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PART I:  

 

1. If   lim
𝑥 → 3

𝑓(𝑥) = 1 ,  lim
𝑥 → 3

𝑔(𝑥) = −1  , then   

lim
𝑥 → 3

[3𝑓(𝑥) − 2𝑔(𝑥)] = 

a.  − 4 

b.      4 

c.      0 

d.  − 5 

e.      5   

 

2. The slope of the tangent line to the graph of the function 

𝑓(𝑥) = 𝑥2  at  𝑥 = 2 , is 

a.       2 

b.   − 4 

c.       3 

d.   − 2 

e.       4         

Answer 

 

3. The vertical asymptote(s) of f(x) = (𝑥2-𝑥 − 2)/(𝑥2 − 4) is (are) 

(a)  x = 2 

(b)  x = 2,  x = -2 

(c)  x = -2 

(d)  y = 2 
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4. The slope of the tangent line to the curve y =𝑒𝑥 + 𝑥 at the point (0,1) is given by 

(a)  lim
𝑥→0

𝑒𝑥+𝑥−1
𝑥−1

 

(b)  lim
𝑥→0

𝑒𝑥+𝑥
𝑥−1

  

(c)  lim
𝑥→0

𝑒𝑥+𝑥−1
𝑥

                                   

(d)  lim
𝑥→0

𝑒𝑥+𝑥+1
𝑥

 

(e)  lim
𝑥→0

𝑒𝑥+𝑥
𝑥

 

 
5. The slope of the tangent line to the curve 

                    𝑦 = 505 𝑥2 + 1 

                                     at the point Q (2,2021) 

(a) 2010 

(b) 2020 

(c) 2030 

(d) 2000 

(e) 2017 
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6.  Evaluate 

lim
𝑥→ 2

 
𝑥2 −  𝑥 − 2 

𝑥 −  2
 

a)        3 

b)    − 4 

c)    − 3 

d)        0 

e)       4     

 
 

PART II:  

7. Problem #1 

For the graph of the function  f   below, find.   
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Answer (Zero) 

 

8. Problem #2 Apply the operations (add-subtract-multiplication-

division) 

 

Solution 
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9. Problem #3  
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Answer:  
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